
  Kanopé J5612-C
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Play value :    12

Motor disability
Sensorial disabilities
Learning disabilites



 Technical information J5612-C

Platform with no roof, Ht: 1,37m
Platform with no roof, Ht: 1,37m
Play porthole
Climbing wall Ht: 1.37m
Net Ht: 1.37m
Tunnel walkway
Fireman's pole
Net tunnel
Slide Ht : 1.37m
Climbing ladder
Climbing wall HT: 1.37m
Net ladder
Pathway
Cones

 Installation of equipment

Impact area =
Impact area
Free space

1 0,6m 20,5m²

2 0,9m 5,5m²

3 1m 8m²

4 1,19m 3,5m²

5 1,37m 42m²

6 1,9m 11m²

2 25h00 0.9m³ 87m² 942kg 38kg 0000-00-00


